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e double reward[2][10];
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/********************************

obooooobooog

********************************/

#include <stdio.h>
#include <stdlib.h>

/« 00000000 =/
struct score{
int select_arm; /* O00OOO0O =/
double reward; /+x O0OOOOO x/
+;
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int main(){

/ 000000000 =/
struct score normal;

struct score* pointer;
struct score array[2];

struct score* parray;

/* 00000000 =/
normal .select_arm=3;

normal .reward=5.9;

printf ("normal 0 select_arm:%d\n",normal.select_arm);

printf ("normal 0 reward:%1f\n",normal.reward) ;

/«x 00000000 =/
pointer = &normal;
pointer->select_arm=6;

pointer->reward=11.8;

printf ("pointer [0 select_arm:%d\n",pointer->select_arm) ;

printf ("pointer O reward:%1f\n",pointer->reward) ;

/ 00000000 Cooooooox/
(*pointer) .select_arm=6;

(*pointer) .reward=11.8;

printf ("pointer O select_arm:%d\n", (xpointer) .select_arm);

printf ("pointer 0 reward:%1f\n", (xpointer) .reward);

/+ 000000 */
array[0] .select_arm=12;

array[0] .reward=23.6;

printf ("array 0 select_arm:%d\n",array[0].select_arm);

printf ("array 00 reward:%1f\n",array[0] .reward) ;

/ 000000000 =/

parray = (struct scorex*)malloc(sizeof (struct score)*2);
/ 000000000 =/

/* parray[1] D0 000 Ox*(parray+1) OO0 OO0 %/



56
57
58
59

© 0 N O Ut s W N =

e e e e e
S U R W N = O

free(parray) ;

return 0;

23 00000

000000000 0OD0OD0OO0O0OO00D0 structure-sample.c 0O0O000D0OOOOOOODOODOO
0000000000 structure-sample 0000

> gcc -o structure-sample structure-sample.c

24 0000

gbooooboobooboobooooboobooa

25 0OO0O0OOO0

gboboooooboooooboboooooboooog

26 UUOOooono
2.6.1 ODO0OOOOOOOOO

gbooooboobobobobobobobobobobobobobobooboboboon
gobooobooOooboobboooobOooobooooooooboooboooOooboOooboOoooag
gobooboboooboboooooboboooooboooboobobooooDbon

[/ ok ok sk sk sk sk ok ok ok ok ok ok ok ok ok o o K kKK oK oK oK oK ok ok ok ok ok ok o o o kK kKoK oK oK oK ok ok ok ok ok ok o o kK
gogooooo

*******************************************************/

#include <stdio.h> / OO0O0OO0OO0OOOOOOO */
#include <stdlib.h> /x OO00OO0O0OO0OO0OO0OOOOO */
#include "bandit.h" /x 000000000 O0O0OOO0O0O =/

/» 0000000Qg */
struct score{
int select_arm; /x JOOODO %/
double reward; /+* O0OOOOO =*x/
};

int main(){
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/ 0000000000000 00000000040 =/
/* 0000000000000 0000DOOO0O0O0a =/
int loop, num_arm, arm_select;
double reward;
init_bandit(); /* 0000000000 */
num_arm = get_arm_numn();/* OO0 O0O0000O00O0O0OO =/
printf("00000D000OOCOCOO%0O0\n",num_arm) ;
/ 00000000000 (co0Q0ng) =/
for(loop=0 ; loop<10 ; loop++){
printf("0000000C0OOOOOOCOODOO0OO [1-%d]:",num_arm);
scanf ("%d", &arm_select);
reward = bandit(arm_select);
/ 00000000000000 */
}
/+ 000000000000 =/
return 0;
3 O0odnd
ogogdg
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